
Sometimes positions are opened too late. 
Once the time frame is changed, the 
strategy often ignores dojis during the 
time set aside for opening a position. But 
if a doji occurs after this time, a position 
is opened by the strategy.

Position should have been 
opened right here (according to a 
doji on the lower time frame).

The above position was opened after a 
10sec-doji, but this doji is located 
between the wrong BBands – it needs to 
be between lower and middle BBand.



The conditions in the strategy 
say, that there have to be four 
red candles. How could a 
position be opened after two 
green candles?

At first a position was opened 
without a crossing of the 
middle BBand. And 
afterwards a position was 
opened after just one red 
candle and again without a 
crossing of the middle BBand.

The opening of this position 
came too late. It should 
have been in the previous 
1min candle.


